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tan 60=(3/2=h

2(1/2((3/2(1dydx)=(1/2)bh

0      0

Set up an equilateral triangle on the x-axis with the base from o to 1. Draw a line through(0,0) so it forms a 60 degrees angle with the x axis. Take the angle between the line coming from (0,0) the x axis; so tan 60 = y/(1/2); y= (square root of 3)/2 and y= the height. So half of the base = 1/2 and the Height = (square root 3)/2. Take this point (1/2, (root3)/2) and the point(0,0); find the slope and use the slope and the y-intercept to find the equation of the line y=(root3)x. Area of the triangle is (root 3)/4, using A=(1/2)bh. 
So set up the double integral for the function f(x,y)=1 or 1dydx, first limits are x=0 to x=1/2 and the second limits are from y=0 going up to y=(root 3)x, since you are working with an equilateral triangle multiple the final answer by 2.
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